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000000 #include int jud1(int s[]). void print(int u[]). int
count. /*0J OJ OO */ void main() { static int a[]={1,2,3,4,5,6}. /*J J
O O O */ printf("The possble table satisfied above conditions
are:\n"). for(a[1]=a[0] 1.a[1] for(a[2]=a[1] 1.a[2] for(a[3]=a[0]
1.a[3] for(a[4]=a[1]>a[3]7a[1] 1:a[3] 1.a[4] /0 OO OO O a[4]00 O
000 0Oa[3]0 O O af1]*/ if(udl(a)) print(a). /40U 0O 0O O O O
O0O000*}intjudl(ints[]) {inti,l. for(I=1.l for(i=I 1.i
if(s[l]==s[iD return 0. 00O L0 OO0OOOOOOOOO
return 1.0 0000000000000 O 1%} void print(int
u[]) {int k. printf("\nNo.:%d", count). for(k=0.k if(k%3==0) /*[]
DO0o00o0DoOooooodda?* printf("\n%d",u[k]). else /*0
Do0ooooooodoodddn?*printf("%d",u[k]). }*0 0O O
[ The possble table satisfied above conditions are: No.1: No.2:
N0.3: N0.4:N0.5:12312412513413545635634625624
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